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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 581 85.82 | #nS | 000 ~ 581 1.94 9.01 st 1.00 | 6.00 ~ 1332 85.82 | #hS | 5.00 ~ 1332| 1.94 9.01
2 100kN/m%E#82% | 1.00|0.00 ~ 160 127.66 |3m#% Bz 5| 0.00 ~ 0.06| 3.04 14.71 | 100kN/mi£#825 | 1.00 | 1337 ~ 2246 | 12766 |3m&EiBZ 5| 2000 ~ 2246| 3.04 14.11
s 1.00 | 1.60 ~ 828 100.00 | #nlst | 0.06 ~ 828 | 3.00 13.93 st 1.00 | 6.00 ~ 1337 100.00 | =nst | 5.00 ~ 2000 3.00 13.93
3 100kN/m%E#8Z5| 1.00 | 000 ~ 138 12376 |3m&EEBZDH| — ~ — — — | 100kN/ %8825 | 1.00 | 1308 ~ 2025| 12376 |3m&E#z25 -~ — — —
s 1.00 | 1.38 ~ 807 100.00 | #nlst | 0.00 ~ 807 | 2.99 13.89 st 1.00 | 6.00 ~ 1308 100.00 | =nst | 5.00 ~ 2025| 2.99 13.89
4 100kN/m%E#Z5| 100|000 ~ 123 121.12 |3m&EEZB| — ~ — — — | 100kN/ %8825 | 1.00 | 1291 ~ 2000| 12112 |3m%E#Z25 -~ — — —
s 1.00 | 1.23 ~ 792 100.00 | =nst | 0.00 ~ 7.92| 2.69 12.51 st 1.00 | 6.00 ~ 1291 100.00 | =nst | 5.00 ~ 2000 2.69 12.51
5 100kN/m%EBZ5 | 1.00 | 000 ~ 227 14008 |3mEEZB| 000 ~ 029 515 14.62 | 100kN/m#%#825% | 1.00 | 1288 ~ 37.76| 140.08 |3m%E#B2 5| 2500 ~ 37.76| 815 14.62
s 1.00 | 227 ~ 896 100.00 | #nst | 0.29 ~ 896 | 3.00 13.93 st 1.00 | 6.00 ~ 1288 100.00 | =nst | 5.00 ~ 2500 3.00 13.93
P 100kN/m%E#8Bz5| 1.00 | 000 ~ 213| 137.43 |3m&E#BZ5| 000 ~ 0.36| 3.19 14.82 | 100kN/mi%#825 | 1.00 | 1273 ~ 3039| 13743 |3m&#Bz 5| 2500 ~ 3039| 319 14.82
s 1.00 | 213 ~ 882 100.00 | #nst | 0.36 ~ 882 | 3.00 13.93 st 1.00 | 6.00 ~ 1273 100.00 | =nst | 5.00 ~ 2500 3.00 13.93
- 100kN/mi%E#2% | 1.00|0.00 ~ 200 135.04 |3m%E#BZ 5| 000 ~ 027 314 14.60 | 100kN/mi%#82% | 1.00 | 1291 ~ 30.01 135.04 |3mZE#BZ 5| 2500 ~ 3001 3.14 14.60
s 1.00 | 200 ~ 869 100.00 | =nst | 0.27 ~ 869 | 3.00 13.93 st 1.00 | 6.00 ~ 1291 100.00 | =nst | 5.00 ~ 2500 3.00 13.93
P 100kN/m%E#Bz5| 1.00 | 000 ~ 273| 14875 |3m&E#BZ5| 000 ~ 164| 3.88 18.00 | 100kN/mi%#825 | 1.00 | 1265 ~ 4263| 14875 |3m&#BZ 5| 2500 ~ 4263| 3.88 18.00
s 1.00 | 273 ~ 941 100.00 | #nSt | 1.64 ~ 9.41 | 3.00 13.93 st 1.00 | 6.00 ~ 1265 100.00 | =nst | 5.00 ~ 2500 3.00 13.93
9 100kN/m%E#Bz5| 1.00 | 000 ~ 275| 14917 |3m&EBZ5| 000 ~ 168| 3.91 18,16 | 100kN/mi%#825 | 1.00 | 1270 ~ 4263| 14917 |3mZE#BZB| 2500 ~ 4263 | 3.91 1816
s 1.00 | 276 ~ 944 100.00 | #nSt | 1.68 ~ 9.44 | 3.00 13.93 st 1.00 | .00 ~ 1270 100.00 | =nst | 5.00 ~ 2500 3.00 13.93
10 100kN/mi%E#2%5 | 1.00|0.00 ~ 240 142,44 |3mERBZAB| 000 ~ 083 | 8.62 16.34 | 100kN/mi%#825 | 1.00 | 1323 ~ 3229| 14244 |3m&E#BZ 5| 2000 ~ 3229| 3.52 16.54
s 1.00 | 240 ~ 9.08 100.00 | #nlst | 0.8 ~ 9.08 | 3.00 13.93 st 1.00 | 6.00 ~ 1323 100.00 | =nst | 5.00 ~ 2000 3.00 13.93
11 100kN/mM%E#Z5| 100|000 ~ 272 14860 |3m&E#ZB| 000 ~ 163| 5.86 17.94 | 100kN/m#%#z25% | 1.00 | 1263 ~ 4276 | 14860 |3mZE#BZ 5| 2500 ~ 4276 | 3.86 17.94
s 1.00 | 272 ~ 941 100.00 | #nSt | 1.63 ~ 9.41 | 3.00 13.93 st 1.00 | 6.00 ~ 1263 100.00 | =nst | 5.00 ~ 2500 3.00 13.93
12 100kN/m##82% | 1.00)0.00 ~ 281 150.31 |3m%E#BZB| 000 ~ 1.68| 3.91 1815 | 100kN/mi%#825 | 1.00 | 1270 ~ 4620| 150.31 |3mZE#BZB| 2500 ~ 46.20| 3.91 1815
s 1.00 | 281 ~ 950 100.00 | #hst | .68 ~ 9.50 | 3.00 13.93 st 1.00 | .00 ~ 1270 100.00 | =nst | 5.00 ~ 2500 3.00 13.93
13 100kN/m%#8%% | 1.00 | 000 ~ 265| 14715 |3m&EBZ5| 000 ~ 148 3.75 17.42 | 100kN/mi%#825 | 1.00 | 1263 ~ 4825\ 14715 |3m&E#BZB| 2500 ~ 4825| 3.75 17.42
s 1.00 | 265 ~ 933 100.00 | #nSt | 1.48 ~ 9.33 | 3.00 13.93 st 1.00 | 6.00 ~ 1263 100.00 | =nst | 5.00 ~ 2500 3.00 13.93
14 100kN/m%E#82%5 | 1.00 | 000 ~ 270 14821 |3mZ#BZ 5| 000 ~ 152|378 17.57 | 100kN/miZ#825 | 1.00 | 1261 ~ 4829| 14821 |3m&#Bz 5| 2500 ~ 4829| 3.78 17.57
s 1.00 270 ~ 939 100.00 | =nSt | 1.562 ~ 9.39 | 3.00 13.93 st 1.00 | 6.00 ~ 1261 100.00 | =nst | 5.00 ~ 2500 3.00 13.93
15 100kN/m# %25 | 1.00 | 000 ~ 285| 150.97 |3m&EBZ25| 000 ~ 168| 3.91 1815 | 100kN/miZ#825 | 1.00 | 1270 ~ 4882| 150.97 |3mZE#BZB| 2500 ~ 4882| 3.91 1815
s 1.00 | 285 ~ 9.53 100.00 | #nst | 1.68 ~ 9.53 | 3.00 13.93 st 1.00 | 5.00 ~ 1270 100.00 | 0S| 6.00 ~ 2500 3.00 13.93
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16 100kN/mM%E#BZ5 | 1.00 | 000 ~ 269 147.99 |3m%E#B2B| 000 ~ 238|415 19.27 | 100kN/miZ#825 | 1.00 | 1263 ~ 51.96| 14799 |3m&#Bz 5| 2500 ~ 51.96| 4.15 19.27
s 1.00 | 269 ~ 938 100.00 | #nlst | 238 ~ 9.38| 3.00 13.93 st 1.00 | 6.00 ~ 1263 100.00 | =nst | 5.00 ~ 2500 3.00 13.93
17 100kN/m##BZ5 | 1.00 | 0.00 ~ 251 144.48 |3m%E#BZB| 000 ~ 227| 4.056 18.83 | 100kN/miZ#825 | 1.00 | 1280 ~ 51.39| 144.48 |3m&E#BZ 5| 2500 ~ 51.39| 4.05 18.83
s 1.00 | 251 ~ 919 100.00 | #nSt | 227 ~ 9.19 | 3.00 13.93 st 1.00 | 6.00 ~ 1280 100.00 | =nst | 5.00 ~ 2500 3.00 13.93
18 100kN/m%#8%% | 1.00 | 000 ~ 252| 144.80 |3mE#BZ%| 0.00 ~ 140 3.69 1714 | 100kN/miZ#825 | 1.00 | 1275 ~ 4818| 144.80 |3m&#BZ 5| 2500 ~ 4818| 3.69 1714
s 1.00 | 262 ~ 9.21 100.00 | #nst | 1.40 ~ 9.21 | 3.00 13.93 st 1.00 | 6.00 ~ 1275 100.00 | =nst | 5.00 ~ 2500 3.00 13.93
19 100kN/mM##Bx5 | 1.00 | 000 ~ 110 11870 |3mZE#BxB| 000 ~ 077 38.32 15.43 | 100kN/miZ#825 | 1.00 | 1712 ~ 4718| 11870 |3m&#Bz 5| 20.00 ~ 4718| 3.32 15.43
s 1.00 | 110 ~ 7.78 100.00 | #nSt | 0.77 ~ 7.78 | 3.00 13.93 st 1.00 | .00 ~ 1712 100.00 | =nst | 5.00 ~ 40.00| 3.00 13.93
20 100kN/m%E#8Z5 | 1.00 | 000 ~ 098] 116.70 |3mEEZD| — ~ — — — | 100kN/ %8825 | 1.00 | 17.39 ~ 3858| 116.70 |3mE#Z5 -~ — — —
s 1.00 | 098 ~ 767 100.00 | #nlst | 0.00 ~ 767 | 2.86 13.28 st 1.00 | 6.00 ~ 17.39 100.00 | =t | 5.00 ~ 3858| 2.86 13.28
21 100kN/mM#E#BZ5 | 1.00 | 0.00 ~ 0.50 108.46 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1276 ~ 1500| 10846 |3mE#Z5 -~ — — —
s 1.00 | 050 ~ 719 100.00 | #nst | 000 ~ 719 | 2.39 11.10 st 1.00 | .00 ~ 1276 100.00 | F=nLsy | 6.00 ~ 1500 2.39 11.10
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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